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CHEMISTRY 11 REVIEW

i

- The formula (NH,),CrO 4 epresents

A. 14 atoms. @ 15 atoms. C. 18 atoms. D. 19 atoms.

2. The forrnulaAlz(SO4)3 represents
A. 10 atoms. @ 17 atoms. C. 19 atoms. D. 34 atoms.

3. The number of significant digits in the number 4.50030 x 1073 is

A 1 B. 3 .5 (D)6 E. 7
4. Which of the following values has 3 significant digits.
ZN
A. 100.0 B. 0.032 @6.00 D. 0.09
5. The number 0.002 has how many significant digits?

@1 B. 2 C. 3 D. 4

6. The number 3.0 has how many significant digits?

Al @2 C: 3 D. 4

The number 7005.0 has how many significant digits?

A. 32 B. 3 C. 4 @?.5

8. The number that has 3 significant digits is

=

@303 B. 0.98 C. 5050.0 D. 6.030
_K 9 - What is the mass of 1 atom of calcium in s? (2 marks) ) ,
L P H, 2 ~23
ot (6 | : Aot q Ca _ ) 15
U e . m‘ffff%‘:%x Ve ‘j‘@)‘i‘:’,_ﬁ_ﬁf A
10 How many moles of silicon are in 30.5 g of silicon? 1 -7 X[0 ﬂ \
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@ How many grams of copper are the@: in 2.55 mol of copner"
i 5@ = b \A
; S S X - L/U\r

=5 51 YWVQ&\ (JL X Vlf\/éfad i l —

\ 12 How many atoms are there in one half mole of Zinc, Zn)" — 7.3 h
0.5 ol Zin fc“\XD‘)S i }% > 1 X100 akmgl
2 —— :

13. Write the formula for the compound boron trifluoride in the space pr0v1ded.

er,

14. Write the formula for the compound boron trichloride in the space provided.
RCig
15. Write the formula for the compound bromine dioxide in the space provided.

%‘(O&

16 Wnte the formula for the compound diantimony decaoxide in the space provided.

Y ShaiCic

17. Write the chemical name for BF; in the space provided.
B‘g\rm ,tho 1%0({0‘1@
18. Write the chemical name for B sHg in the space provided.
pe s ooroa non (:\ﬂujdﬂob& :
19. Write the chemical name for SbF in the space provided.
mqhmoﬂ% P—C‘V\"’ﬁ{ uon.ckfff
20. Write the chemical name for P,S 5 in the space provided.
d. ?hogphom'ts Pe‘/ﬂ?‘ sulficle

‘\
«.g/

- Avrl’le (V) {lueride

21. Write the name for V2(CO3)5 in the space provided.
\ Yy
\/omd \MVY\TCCJ‘\QDW& T
22. Write the name for BI(N03 ) 5 m(the space provided.

Bismudinin [prahz

/4
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23. Use the lab data below, along with the balanced chemical equation, to answer the following

questions.
AIZ(CO3)3(S) +6 HI(aq) ----- 2 All3(aq) +3 COZ(g) +3 I-LZO(]) i
: ™ w2
Mass of cruc1bl.e and AIZ(CO:,’)3 .......... 274lg 212 3 A LER]:)) e XA
Mass of crucible only....................... 2529 ¢ | |
Mass of crucible and All,.................. 32.33 )
TR ants £ =134 MLy
.a) WhatmassofAlz(CO3)3 wasused? o 12 g Alz (cO33
b) ‘What mass of AlI3 was produced? 71.24 g AiE2 2
/ c) Theoretically, what should have been the mass of AlI produced? (3) /-9 S Al (Jrg
| ‘] d) Using the theoretical and actual values of Ally produced calculate the percentage eémr in this
’ experiment. (2) __@_d'fil‘L « (00, = :fﬁiL.ﬁ X 1C0%, = ‘Lcib s f ,
avehad 73949 —=_1
P | Inwl 97
f 24. Given the following balanced equation: 2Y4. L{ C "V‘ﬁ_j&n_c il X_VM‘_yg -7
ks’ X Oz ’if(, 'lf'w‘i- lmﬁ
3 Fe203 + CO -> 2 Fe30 iy * CO peEo g y

,/ :;2 If 134.4 grams of CO is combmed with an excess of Fe203 , what mass of Fé O will be

formed? | ) 33 ¥ 1™ 4 'ealy \

25. A student measures out 7.2 mL of waterina 10 mL graduated cylinder and 641 mL in a 1000 mL
graduated cylinder. If the two volumes are combined in a beaker the total should be recorded as

¢
s
s

@; 648 mL. B. 6482 mL. C. 650 mL.

D. 6.5 x 102.

26. Two different balances are used in determining the masses of two different objects as 624.1 g and

4.24 g. The total of these two masses be recorded as

| 7 AaBs (B) 6283 g. C. 62834 g.
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D. 630 g.






